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Question Number : 1 Question Id : 630680896092 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following ministries launched an app called ‘eSakshi’ to track the fund flow under the ‘Member of Parliament Local Area
Development Scheme’ (MPLADS)?

Options :

1. ¥ Ministry of Statistics and Programme Implementation
2. ¥ Ministry of Commerce and Industry

3. ®# Ministry of Electronics and Information Technology

4. ® Ministry of Skill Development and Entrepreneurship

Question Number : 1 Question Id : 630680896092 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0

808 e3¢5 & 006 § T ‘0D B FTR0ES S'ES BT BIODIOE 80° (MPLADS) 8065 QcHed
(D), 1878 TOHEQE ‘eSakshi’ @ AR (PE0DOD0E?

Options :

1. ¢ (5€3°05°e0 DA% SPSEe €960 DO(e365 § FT°R

2. % e3235 QDO DB O(e36b ¢ 3°P

3. % QOIS Q085 DAY 0TI O(ed6¢h § T°

4. % T35 €988 08O X558 S 00| e3¢5 § TR

Question Number : 2 Question Id : 630680896091 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Who among the following chaired the first meeting of the 16th Finance Commission of India in February 2024?
Options :

1. % K Srinath Reddy

2. ¥ Arvind Panagariya

3. % Ajay Narayan Jha

4. % Vijay L Kelkar

Question Number : 2 Question Id : 630680896091 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

D258 2024 &° 1685 23735 €30E HOSNO SO HIFSFTIE &8 (808 O’ 96358 ¢ H2PODIT D DSED?
Options :

1. % K. (30°8 3&

2. % @©3D0E DO

3. % @230 5°oroe) S

4. % JBODH L35

Question Number : 3 Question Id : 630680896089 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following Indian tennis players became the oldest Grand Slam winner at the Australian Open 2024 and World No. 1 in the
ATP Rankings for doubles released in January 2024?

Options :

1. % Mahesh Bhupathi
2. % Leander Paes

3. % Sania Mirza

4. ¢ Rohan Bopanna

Question Number : 3 Question Id : 630680896089 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

808 2SS0 B EETsHOS & VOONS 7S 202465° €9¢55065 e (PO ' DT DO 23958 2024¢5°
D TS 420" ATP T°50800 )¢S’ 9905 0235 1 T°5086S" AODITED DS ?

Options :

1. ¥ 0ora 20
2. % OOr0d DR
3. % Q0 DT
4 & BES 5H3)

Question Number : 4 Question Id : 630680896090 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

In the final match of the 2023 Men's Asian Champions Trophy, the Indian field hockey team beat Malaysia with a score of:
Options :

1. %52

2. % 2.1

3.9 43

4. % 3.1



Question Number : 4 Question Id : 630680896090 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

2023 HBIVO VAT TPODONSY (€70 IS 75156’ 27785 h O 5378 23EY NTAATTD 2.B0DS &) &:
Options :
1. % 522
2. % 2.1
3.9 43
4. % 3.1

Question Number : 5 Question Id : 630680896087 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following Indian players reached the 500 Test wicket milestone during the third test between India and England in February
20247

Options :

1. # Jasprit Bumrah

2. ¥ Ravindra Jadeja

3. % Ravichandran Ashwin

4. ¥ Bhuvneshwar Kumar

Question Number : 5 Question Id : 630680896087 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

(2358 2024 ¢° 2B HTIFO HOON QOO sC3S WO 07Ch TG DORB)OMT &3 (808 2G50 SETHES DS
500 TR DTE) FENT 0N DEZOT®) K?

Options :

1. % 232 2w

2. % 3ol BTee

3.V BSOS @S

4% 553956 Soir6

Question Number : 6 Question Id : 630680896088 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following teams holds the top inaugural title of the Khelo India Para Games held in New Delhi in December 2023?
Options :

1. ¥ Haryana

2. # Uttar Pradesh

3. ® Maharashtra

4. % Delhi

Question Number : 6 Question Id : 630680896088 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

&0 2023 ¢ 3rsBOS 28RS BS' R0BAT 0 TS B0A 576365’ $O T3S rFA0DS 2360 IA?
Options :

1. ¢ SPoeso°

2. % &33 (1HDBT

3. % ST

4% a9

Question Number : 7 Question Id : 630680896121 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Amer Fort (or Amber Fort) is a fort located in which of the following places of Rajasthan?

Options :

1. ¥ Jodhpur

2. % Jaipur

3. % Bikaner



4. % Udaipur

Question Number : 7 Question Id : 630680896121 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

800 ANYX TBTI R (HBFOS’ 9518 & (S 9025 §) O (DT30S &0H?
Options :

1. ¥ 88 6

2. ¥ BYy°0

3. % D50

4 % BB

Question Number : 8 Question Id : 630680896123 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Thiksey Monastery is situated in:

Options :

1. % Auli

2. % Almora

3. ¥ Leh

4. % Ranikhet

Question Number : 8 Question Id : 630680896123 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

&3 B0 (Thiksey Monastery) €d) (DT3$0:
Options :

1% 2O

2. % @933

3.V B

4. % O3B

Question Number : 9 Question Id : 630680896116 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following traditional performing arts is particularly performed in Kerala?

Options :

1. ¥ Karagattam

2. # Sattriya

3. ¥ Koodiyattam

4. ¥ Bharatanatyam

Question Number : 9 Question Id : 630680896116 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

&3 (808 FPOIITO (9638 EFOES BEFS® |DSBE0MT (998052005 DE?
Options :

1% S880

2. ¥ Jle3asr

3. ¥ S0

4. % 2385050

Question Number : 10 Question Id : 630680896129 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Who among the following inaugurated the Golden Jubilee edition of the iconic Khajuraho Dance Festival on 20th February 2024?
Options :

1. ¥ Mohan Yadav

2. % Narendra Modi

3. # Narendra Singh Tomar



4. ¥ Nitin Gadkari

Question Number : 10 Question Id : 630680896129 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

531808 O’ DS 20, 2024 &S DRSS PePS I B°S) DRSS FSS 23“?;) DAAR A (PB0D 0D a3°E) oI&0?
Options :

1. ¥ I ASPD

2. % 3Bo(& Ird

3. % 3B oA $'snd

4. % JDS 580

Question Number : 11 Question Id : 630680896120 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Janmashtami is a Hindu festival that celebrates the birth of:

Options :

1. ¢ Krishna

2. # Rama

3. # Shiva

4. % Bhisma

Question Number : 11 Question Id : 630680896120 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

BN BT FPORFYE DO, B DO HEIT 2 HORE)OMT 28E0HEV0EFTED:
Options :

1. ¢ Eyac

2. ® 070

3. % 39

4. % DI

Question Number : 12 Question Id : 630680896119 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Paryushana is a 10-day festival celebrated particularly by:

Options :

1. ¥ the Hindus

2. % the Sikhs

3. ¥ the Jains

4. ¥ the Buddhists

Question Number : 12 Question Id : 630680896119 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

DEF5NE O 10 B2 D0, A (DBLEOMT DED 23BE0YEV0EFTED:
Options :

1. % 32080y

2. % B0y

3. ¢ Bdoew

4. % 25Cew

Question Number : 13 Question Id : 630680896125 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

‘Kati Bahu’ is celebrated in the state of to mark the beginning of a new harvest season.
Options :

1. # Andhra Pradesh

2. % Himachal Pradesh

3. ¥ Gujarat



4. ¥ Assam

Question Number : 13 Question Id : 630680896125 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

§S HOL 0 (FS02rIE HXR™ TR0 1EE3 23570 & 23308 E00ETED.
Options :

1. % &30\ |IDBR?

2 ¥ PSS HTT

3. % H3oee

4. ¥ @J°)0

Question Number : 14 Question Id : 630680896118 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which Indian won three awards at the 66th Annual Grammy Awards in 2024?

Options :

1. ¥ Sonu Nigam

2. ¢ Zakir Hussain

3. ¥ Amjad Ali Khan

4. % Udit Narayan

Question Number : 14 Question Id : 630680896118 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

202465’ 6655 3OF TP @S’ 057 eI FeNTHE), 2GS JeSED?
Options :

1. % QPO Qe

2. ¥ 288 SU)S

3. % @025 @O S

4. ¥ &GOS oA

Question Number : 15 Question Id : 630680896124 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The Dudunga, also known as the Dunduni, is a/an type of instrument.

Options :

1. % Tat Vadya

2. # Avanadhdha Vadya

3. % Ghan Vadya

4. ¥ Sushir Vadhya

Question Number : 15 Question Id : 630680896124 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

CRO0ES @ S5 DENINVT oK g 380 JPoNBS0.
Options :

1. ¢ 50| ¢SS

2. ¥ 29370 eS8

3. % B0 eSS

4% 096 &S

Question Number : 16 Question Id : 630680896117 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who among the following is a renowned artist of ghatam, an ancient Indian percussion instrument that is played in South Indian Carnatic
classical music tradition?

Options :

1. ¥ Raghubir Mallik

2. % PA Deepak

3. % Vishwa Mohan Bhatt



4. ¥ TH Vinayakram

Question Number : 16 Question Id : 630680896117 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

&3 (808 706’ 58 £ 2B ET°EE T VO D0 HOIDTONOES FONOT (DS 2SSO TANCGSTS HE0
T308) F0IDDES EF S DSG?

Options :

1. % 350908 HO§

2. % PAODE

3% DE5 BeTS B

4. ¢ TH QOS50

Question Number : 17 Question Id : 630680896105 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

How much percentage of Andhra Pradesh’s total geographical area is reported as recorded forest area (RFA), according to India State of
Forest Report (ISFR) 2021?

Options :

1. % 28.15%
2. ¥ 36.24%
3. ¥ 22.86%
4. % 17.69%

Question Number : 17 Question Id : 630680896105 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

R0ACST VE & VY 8FY (ISFR) 2021 (DGO 0[S INB0 2T HDE (506 D0 3250 SITE eI
(P00 (RFA)T AI3Q0IDR0E?

Options :

1. % 28.15%

2. % 36.24%

3.9 22.86%

4. % 17.69%

Question Number : 18 Question Id : 630680896127 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Lohabarrack Crocodile Sanctuary is located in:

Options :

1. % Kerala

2. % Manipur

3. ¥ Andaman and Nicobar Islands

4. % Lakshadweep

Question Number : 18 Question Id : 630680896127 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

SPBE BRI 92503 Se50 B (DTI0:
Options :

1. % 3¢

2. % 20e3y°0

3. ¢ 085S J8255 Hsyen

4. % 08 HD

Question Number : 19 Question Id : 630680896104 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which of the following states is the Nokrek Biosphere Reserve located?

Options :

1. # Arunachal Pradesh



2. % Meghalaya
3. # Sikkim
4. % Mizoram

Question Number : 19 Question Id : 630680896104 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

%3808 ¢3S S35 23300 (Nokrek Biosphere) 8238 § 550> TR0 E?
Options :

1. % XS |DBT

2. ¢ DATFOAD

3. % 280

4. % 8070

Question Number : 20 Question Id : 630680896126 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

The southern most point of India, Indira Point is located at  latitude.

Options :

1. % 7°85° 38" N

2. % 6°45°38” N

3. % 8°64°38” N

4. % 5°89°38” N

Question Number : 20 Question Id : 630680896126 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

ESTI0 TBNEY S8 (0SS ROOT® Fon0Ed 957050 &0od.
Options :

1. % 7°85'38"N

2.9 6°45'38"N

3. ¥ 8°64'38" N

4. % 5°89'38"N

Question Number : 21 Question Id : 630680896109 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

What is the total Hindu population of India, according to Census 2011?

Options :

1. ¥ 96,62,57,353

2. % 1,16,62,57,353

3. % 76,92,57,357

4. % 62,57,35,396

Question Number : 21 Question Id : 630680896109 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

2011 By SELO (0580 2rBSTIOS R BNBO FPOGT BT 0eH?
Options :

1. ¥ 96,62,57,353

2. % 1,16,62,57,353

3. % 76,92,57,357

4. % 62,57,35,396

Question Number : 22 Question Id : 630680896107 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following religion’s population is the third largest in the country, according to Census 2011?
Options :

1. % Islam

2. % Sikhism



3. ¢ Christianity

4. ® Jainism

Question Number : 22 Question Id : 630680896107 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

31808 ¢3S, 2011 B ey BEYO (DTG0 BFOS® s05°¢hs 930 237> EOAD 050 DE?
Options :

1. # Q0

2. % 280y 0ed0

3¢ (B S0

4 % BS 530

Question Number : 23 Question Id : 630680896108 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following States/Union Territories is the LEAST urbanised, according to Census 2011?
Options :

1. ® Goa

2. ¢ Himachal Pradesh

3. % Tamil Nadu

4. % Chandigarh

Question Number : 23 Question Id : 630680896108 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

2011 B2 B (D5E0 BN E%S), Talen/Z0(SFOeh (OB 96556 )0 HEEFEEED ORI D?
Options :

1. % Far

2. ¥ SrErSS (D85

3. % BFICD

4. % 350865

Question Number : 24 Question Id : 630680896100 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Who among the following was the first chairman of Public Service Commission after its establishment in 1926?
Options :

1. ¥ Edwin Montagu

2. % John Morley

3. ¥ Ross Barker

4. ® Ramsay MacDonald

Question Number : 24 Question Id : 630680896100 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

31808 8’ 1926 ¢5° HF HE R ENAK0), F°DOTIDES 5B ed FNCIES TBEIS T 3 5635TB0D TS eSE0?
Options :

1. % QA5 r0B%H

2. % 23°Q S0

3. ¥ 0P a6

4. % o) DS D

Question Number : 25 Question Id : 630680896101 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which Governor-General of British India established Fort William College at Calcutta for the education of young recruits to the Civil
Service?

Options :
1. ¥ Lord Hastings
2. % Lord Wellington



3. % Lord Cornwallis
4. ¢ Lord Wellesley

Question Number : 25 Question Id : 630680896101 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

DS DB LS TOS AENSZOOB DI 90ETI0 FH0 EEBS 8 DOTHO EF e TN (DE3N
QOGO 385 2338 eI&0?

Options :

1. # 0 Q0N ) (Lord Hastings)

2. % 0 3OS (Lord Wellington)

3. % &0 5°5) O (Lord Cornwallis)
4. ¢ e>f 3@5’9 (Lord Wellesley)

Question Number : 26 Question Id : 630680896102 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

At which of the following places did Jonathan Duncan start Sanskrit College in 1791?

Options :

1. ¥ Varanasi

2. % Mumbai

3. # Lucknow

4. % Pune

Question Number : 26 Question Id : 630680896102 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

DS 058 1791 S ) (DTI0S’ D00y 9 E°FO (BFE0D0TeE?
Options :

1. ¢ BT

2. % 0023

3. % off

4. ® HT3

Question Number : 27 Question Id : 630680896095 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following was NOT a type of land revenue system adopted by the British?

Options :

1. ¥ Zamindari system

2. % Ryotwari system

3. % Mahalwari system

4. ¢ Rowlatt system

Question Number : 27 Question Id : 630680896095 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

%3808 ¢3S |DE3N a3 ©9350DO0NS 255 BRI 95390 52 AE?
Options :

1. % 20008 5559

2. % Bz 8 55630

3. % 03rer 58 5559

4, ¢ BOE 5§59

Question Number : 28 Question Id : 630680896130 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which viceroy repealed the Vernacular Press Act of 1878?

Options :

1. ¥ Lord Hastings



2. ¥ Lord Ripon
3. % Lord Curzon
4. ¥ Lord Minto

Question Number : 28 Question Id : 630680896130 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

1878 °¢3 (POIOD NS EFQY O FRAD S TFS?
Options :

1. % 0 30N ) (Lord Hastings)

2. ¥ &0 85)S (Lord Ripon)

3. % 0 %8S (Lord Curzon)

4. % 8 Q0¢S’ (Lord Minto)

Question Number : 29 Question Id : 630680896097 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In which of the following years was the Hindu Widows' Remarriage Act enacted?

Options :

1. # 1859

2. ¥ 1856

3. % 1863

4. % 1869

Question Number : 29 Question Id : 630680896097 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

&3 1808 ¢3S 2P0 D50 I ST TIEFR), @00 TS H03IB50 IE?
Options :
1. % 1859
2. ¥ 1856
3. % 1863
4. % 1869

Question Number : 30 Question Id : 630680896098 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who among the following was appointed as Head of the Law Commission in 1833 to codify the Indian laws?
Options :

1. % Robert Baden-Powell

2. % Lord Minto

3. ® Colin Campbell

4. ¢ Lord Macaulay

Question Number : 30 Question Id : 630680896098 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

&3 (808 8’ 1833 & 2SS0 WIEFO HOFON0 TONEE e EMAS OAIRT ONDAOTIRSTE DS ?
Options :

1. % orQ 2rBS-°3O (Robert Baden-Powell)

2. % &0 Q0¢S’ (Lord Minto)

3. % §OS 57509 236 (Colin Campbell)

4. ¢ 0 J5°S (Lord Macaulay)

Question Number : 31 Question Id : 630680896110 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following Articles of the Constitution of India deals with the prohibition of discrimination on the grounds of religion, race,
caste, sex or place of birth?

Options :
1. % Article 13



2. % Article 17
3. ¥ Article 15
4. % Article 10

Question Number : 31 Question Id : 630680896110 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

%3808 ¢3S 0e50, 257, $000, DoK0 B )3 (HTF0 BT DSE. A AOOIB0 OTE 23S
025000 &) 9OEBEI0S D&Y, S22B0E?

Options :

1. ¥ @880 13

2. % 08800 17

3. ¢ ©Q8H0 15

4. % 90380 10

Question Number : 32 Question Id : 630680896111 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Article 30 of the Constitution of India deals with:

Options :

1. # the prohibition of traffic in human beings and forced labour

2. % the protection against arrest and detention in certain cases

3. % the freedom as to payment of taxes for promotion of any particular religion

4. ¢ the right of minorities to establish and administer educational institutions

Question Number : 32 Question Id : 630680896111 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

256 oS00SR 9OESEI0 30 LS E:

Options :

1. % 5357563 e[ 80 BaTed DOASN 250688 Tr88 2 220

2. % £) 0TS 0B HOAM ABI0B0 HOS S5

3. % QB AN D), 18565 Yo 058 HDAYeN BOOT 55)
4. ¢ 3°0¢3050 D5 HDODOD FD0D, DBLETFOT T80y

Question Number : 33 Question Id : 630680896114 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

As of February 2024, which of the following individuals is a Rajya Sabha member and is in the Council of Ministers of the Government of
India?

Options :

1. # Jitendra Singh

2. # Anupriya Patel

3. # Giriraj Singh

4. ¢ Ramdas Athawale

Question Number : 33 Question Id : 630680896114 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

258 2024 T°¢38, &3 180G S5O’ T7e3525 D2 sHBTEN 27Geh (55265 § O[OS €55 T DSSD?
Options :

1. % 2&80(¢ doh

2. % DA TS

3. % AdoreS voH

4. ¥ 0P @35S

Question Number : 34 Question Id : 630680896115 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

At least how many members are required to sign the resolution to initiate the impeachment of the President of India after 14 days’ prior
notice to the President in writing?



Options :

1. ¢ One-fourth of the total members of the house
2. % Half of the total members of the house

3. #¥ One-sixth of the total members of the house

4. ¥ Two-third of the total members of the house

Question Number : 34 Question Id : 630680896115 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

T QDD TS $50TT 14 232> S00M S BRI S$T° 565 0DF0DSD (FB0E0T BT3503 EDN0 Jodh
B0 HZHgen HoBE0 TASTE?

Options :

1. ¢ $H5S°Q IS0 205 TR0 2.8 S0

2. % 525’ S0 HEHS” DKo 0

3. % 352567 B0 H20OS €335 S0k

4. % H56°Q IS0 205 B 0e) BOSOSHO 0

Question Number : 35 Question Id : 630680896131 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Which of the following Articles of the Constitution of India deals with the term of office of the President of India?
Options :

1. ¥ Article 61

2. % Article 54

3. % Article 59

4. ¢ Article 56

Question Number : 35 Question Id : 630680896131 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

2S5 T°e3 00T & (80O OB’ 238ed T QDB HDHDTErIE H0OBONS 9AESI0 IE?
Options :

1. % 00330 61

2. % O3B0 54

3. % O3B0 59

4. ¥ ©H3B0 56

Question Number : 36 Question Id : 630680896113 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which of the following Union Territories has representation in Rajya Sabha?

Options :

1. ¥ Delhi and Ladakh

2. ¢ Delhi and Puducherry

3. ¥ Puducherry and Andaman & Nicobar

4. % Andaman & Nicobar and Lakshadweep

Question Number : 36 Question Id : 630680896113 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

& 1808 0[SO |roerereS BAE 073’ (PN 0 &o6?
Options :

1 % 3O 2B OF°PH

2. ¢ 3O L8 HHTHO

3. % HENTIO 08O 0TS & J82rD

4. % @90rS & J525°5 DO ©E D

Question Number : 37 Question Id : 630680896132 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Which of the following Articles of the Constitution of India makes provision for the mode of conduct of the business of the Government of
India?

Options :

1. ¢ Article 77
2. % Article 87
3. # Article 72
4. % Article 82

Question Number : 37 Question Id : 630680896132 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

531808 ¢3S aSes Te 500 e eh (2085 ¢ B sEeTTOD DB ST0T ATar) EOI0T @OES0 IE?
Options :

1. ¥ 88820 77
2. % Q8890 87
3. % Q88290 72
4. % 953880 82

Question Number : 38 Question Id : 630680896094 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Who among the following received the Dr. MS Swaminathan Award for Environment Protection 2023?
Options :

1. # Ranjith Basha

2. % Ramakrishna Reddy

3. # Kanimozhi Karunanidhi

4. ¥ T Vijay Kumar

Question Number : 38 Question Id : 630680896094 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

531808 3OS’ HT533ed HDOSE €9 2023 EFBE0 Dr. MS SRS @93 900808 570 SEd?
Options :

1. % 3023 23ar

2. ¥ 0°08yar O

3. % ZJR0D EHTAO

4. ¥ T Q230D S03°0

Question Number : 39 Question Id : 630680896128 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which edition of the prestigious Raisina Dialogue conference was inaugurated by PM Narendra Modi in New Delhi on 23rd February
20247

Options :
1. ¥ 5th
2. ¥ 9th
3. % 11th
4. % 6th

Question Number : 39 Question Id : 630680896128 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

BT B BErH S°3)BS,) T0EY & IAAS 0 2024 D225 238 (DG 00 1§ TS Brd SrsdOS’
(S0 OTTH?

Options :

1.%#58

2.¥9%

38118

4.%6



Question Number : 40 Question Id : 630680896093 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Under which of the following schemes did Andhra Pradesh Chief Minister YS Jagan Mohan Reddy release 3123.52 crore funds in May
2023 to provide financial assistance to fishermen for the annual ban period on marine fishing from 15th April to 14th June?

Options :

1. # YSR Rythu Bharosa

2. ¥ YSR Matsyakara Bharosa
3. ¥ YSR Kanti Velugu

4. % Jagananna Chedodu Scheme

Question Number : 40 Question Id : 630680896093 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

QX0 THS IR DO 15 QOB 7S 14 HSB0 3788 D1 5778 3¢5 )§5°50e2%0 @388 D00 00BN 8
SO(GIDTT S0WFE0E BV 2365 257S BS 3 2023 & & D0 805 B3°.123.52 §E 0D DB TFS?
Options :

1. % YSR Bebd S5

2. ¥ YSR 3065 )§5°8 258

3. % YSR $0¢3 Jenth

4. % 235858) BDES HHEo

English language
Section Id : 63068040637
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 10
Section Marks : 10
Section Negative Marks : 0
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 63068053380
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 630680896073 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Select the option that can be used as a one-word substitute for the underlined group of words.

The dance performance began as soon as the lights were switched off in the area where the public sat.

Options :

1. ¥ museum
2. ¥ aquarium
3. ¥ podium

4. % auditorium

Question Number : 41 Question Id : 630680896073 Question Type : MCQ Option Shuffling : Yes

Correct Marks : 1 Wrong Marks : 0

Select the option that can be used as a one-word substitute for the underlined group of words.

The dance performance began as soon as the lights were switched off in the area where the public sat.

Options :

1. ¥ museum
2. % aquarium
3. ¥ podium

4. % auditorium

Question Number : 42 Question Id : 630680896072 Question Type : MCQ Option Shuffling : Yes




Correct Marks : 1 Wrong Marks : 0
Select the option that can be used as a one-word substitute for the underlined group of words.

Most of the parts of a banana plant are suitable to eat.
Options :

1. % useful

2. % edible

3. ¥ medicinal

4. % tasty

Question Number : 42 Question Id : 630680896072 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the option that can be used as a one-word substitute for the underlined group of words.

Most of the parts of a banana plant are suitable to eat.
Options :

1. % useful

2. ¥ edible

3. ¥ medicinal

4. ¥ tasty

Question Number : 43 Question Id : 630680896075 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate meaning of the given idiom.

To keep your chin up
Options :

1. % To walk straight
2. # To feel superior
3. # To stay hopeful
4. ¥ To be excited

Question Number : 43 Question Id : 630680896075 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate meaning of the given idiom.

To keep your chin up
Options :

1. ¥ To walk straight
2. ¥ To feel superior
3. % To stay hopeful
4. ¥ To be excited

Question Number : 44 Question Id : 630680896083 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate meaning of the underlined idiom.

The crowd got out of hand, but the police didn’t do anything.
Options :

1. ¥ Became uneasy

2. ¥ Became noisy

3. % Became uncontrolled

4. ¥ Became excited

Question Number : 44 Question Id : 630680896083 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate meaning of the underlined idiom.

The crowd got out of hand, but the police didn’t do anything.



Options :

1. ¥ Became uneasy

2. % Became noisy

3. ¥ Became uncontrolled

4. ¥ Became excited

Question Number : 45 Question Id : 630680896079 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate ANTONYM of the underlined word.

My pet dog suffers from a common disease of the bones.
Options :

1. ¥ Dangerous

2. % Natural

3. ¥ Rare

4. % Familiar

Question Number : 45 Question Id : 630680896079 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate ANTONYM of the underlined word.

My pet dog suffers from a common disease of the bones.
Options :

1. ¥ Dangerous

2. % Natural

3. ¥ Rare

4. ¥ Familiar

Question Number : 46 Question Id : 630680896078 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate ANTONYM of the underlined word to fill in the blank.

The poor in cities do not have permanent homes; they live in shelters.
Options :

1. ¥ powerful

2. ¥ temporary

3. % stable

4. % shabby

Question Number : 46 Question Id : 630680896078 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate ANTONYM of the underlined word to fill in the blank.

The poor in cities do not have permanent homes; they live in shelters.
Options :

1. ¥ powerful

2. ¥ temporary

3. ® stable

4. % shabby

Question Number : 47 Question Id : 630680896080 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate synonym of the underlined word.

My father gave me his honest opinion about my work

Options :
1. ¥ Frank
2. % Vile



3. ¥ Wise
4. ¥ Kind

Question Number : 47 Question Id : 630680896080 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate synonym of the underlined word.

My father gave me his honest opinion about my work
Options :

1. ¥ Frank

2. % Vile

3. % Wise

4. % Kind

Question Number : 48 Question Id : 630680896081 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate synonym of the underlined word.

Some areas in my city are congested with both, people and traffic.
Options :

1. ¥ Overweight

2. % QOverpowered

3. % Overcrowded

4. % Qverruled

Question Number : 48 Question Id : 630680896081 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the most appropriate synonym of the underlined word.

Some areas in my city are congested with both, people and traffic.
Options :

1. ¥ Overweight
2. % Overpowered
3. ¢ Overcrowded
4. % Qverruled

Question Number : 49 Question Id : 630680896077 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the correctly spelt word.

Options :

1. ¥ Environment

2. % Envorment

3. ¥ Envirnment

4. ¥ Envoirnment

Question Number : 49 Question Id : 630680896077 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the correctly spelt word.

Options :

1. ¥ Environment

2. #¥ Envorment

3. ¥ Envirnment

4. % Envoirnment

Question Number : 50 Question Id : 630680896076 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
Select the correctly spelt word..



Options :

1. * Dicipline
2. ¢ Discipline
3. % Displine

4. # Disipline

Question Number : 50 Question Id : 630680896076 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the correctly spelt word..

Options :

1. ¥ Dicipline

2. ¢ Discipline

3. ¥ Displine

4. % Disipline

Mental Ability
Section Id : 63068040638
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Section Negative Marks : 0
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 63068053381
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 630680896160 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In a certain code language, if *&’ means *addition’, *#" means ‘multiplication’, *@" means *division’ and ‘%0’ means
‘subtraction’, then find the value of 11 # 7 & 36 (@ 6 % 12.

Options :

1. % 52

R 62
3. v 71
4. % 77

Question Number : 51 Question Id : 630680896160 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

2.8 QB 85 270, '&' @0 SrdE, '# oD Hesdo, '@ o) '2ritE0’ sn8aN %' 9o
BB @ 9o eond, @1 11#7 & 36 @ 6 % 12 BE) Densied EFb0bk.

Options :

1. ® 52

2. 62



4. ® 77

Question Number : 52 Question Id : 630680896170 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Which two numbers should be interchanged to make the following equation correct?
15+3+6x7-5=28

Options :
1 % 15and 6

) % 6and7
3.« Sand?
4 % 15and 7

Question Number : 52 Question Id : 630680896170 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

&5 180 HDEBEFR) HOTONBO FBEL &) Bock DO HBD B0 Sromy?

156+3+6x7-5=28
Options :

L% 15508050 6
2. ® 6 8N 7

4 % 158050 7

Question Number : 53 Question Id : 630680896164 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the option in which the triad shares the same relationship as that shared by the given number triad.

9:64: 100
Options :
1.% 5:25:64

) #% 7:36:49

3. ¢ 8:49:81

N
®
L
-
(=)
]
[

Question Number : 53 Question Id : 630680896164 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

@5 5008 Hogrs |HE0 €03 Koo, EORS T (B35S0 D5 0 JotHE k.

9:64:100
Options :



1% 5:25:64

o % [:36:49

3.« 8:49:81

4. % 3:16:25

Question Number : 54 Question Id : 630680896163 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the fifth number in the same way as the second number is related to the first number

and the fourth number is related to the third number.

8:65::0:37.:7:7
Options :
1. % 48

2.« 30

h
| E]

3. %

Ln
n

4. %

Question Number : 54 Question Id : 630680896163 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

BOCHS DO B0E5E3 DO HDORVOEODNE SDOAN T°ed DO 03°¢8) DOWSE DODOHODIE T DO
20585 HOW§B HOOEODIA AE A AN IS DRI N0 JoTNFod.

8:65::6:37::7:?

Options :

1. ® 48
2. v 50
3. # 52

4. 55

Question Number : 55 Question Id : 630680896161 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the number from among the given options that can replace the question mark (?7) in the following series.

12, 24, 36, 48,7
Options :

1.« 60

7 ® T2

3. % 80

4 % 8B



Question Number : 55 Question Id : 630680896161 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

&s 1806 (33S° 1949, HD ()T TR 88 TR Howsed BDIS AT 0 NoHEod.
12, 24, 36, 48, ?

Options :

1. 9 50‘

R 72
3. # 80

4. ® 88

Question Number : 56 Question Id : 630680896162 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the number from among the given options that can replace the question mark (?) in the following series.

19, 23,32, 48,73,7
Options :
1. % 102

5 % 105
3 & 109

4 % 116

Question Number : 56 Question Id : 630680896162 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

&:1806 383" 104, HD ()T TR 88 TR Howsed DS AT 0 JotFod.

19,23,32,48, 73,7
Options :
L % 102

, % 105
3 v 109

4 % 116

Question Number : 57 Question Id : 630680896165 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Four number pairs have been given, out of which three are alike in some manner and one is different. Select the one that

is different.
Options :
1. % 13:65

o % 11:55



3 % 18:90

4.« 14 :60

Question Number : 57 Question Id : 630680896165 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

e HDOBWE 23¢5e Q63 TN, ¢3S s DE 2.8 NSO 2.8er Goeraw oS 2.8¢3
750 D) O GOENOA. D) ROITR) DOTHEOR.

Options :
| % 13:65

> % 11:55
5 % 18:90

4 v 14:860

Question Number : 58 Question Id : 630680896147 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Refer to the following number series and answer the question.
(Left)45897435723896348746982357845689267857(Right)

What will be the sum of the sixth number from the left end and the seventh number from the right end in the above
number string?

Options :

1. ® 6

2. # 11
3. & 13

4 % 16

Question Number : 58 Question Id : 630680896147 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

AN &8 (FBQ 3R, (%) 80 DTS00 9D 508,
(cDCécﬁ))45897435723896348746982357845689267857(@&)

2 @08 (363 S D50 DSS 0B &35S DO SN Fo& DSE 0B Jched 0TS B0 DOh?
Options :

1. % 6

2. 11

3.¢ 13

4. 16

Question Number : 59 Question Id : 630680896149 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0
If the given words are arranged in alphabetical order as they would appear in an English dictionary, which word would

come in the end?

Tomb, Turn, Towel, Son, Sight, Type
Options :
1 % Tomb

o % Turn
3 Type

4 # Towel

Question Number : 59 Question Id : 630680896149 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

AN IS DT €30 DN0ENHES’ EAN0T VB0 08 & 1500 @508 13E00S, DSB8 Q HAo
SNoB?

Tomb, Turn, Towel, Son, Sight, Type
Options :
1 = Tomb

5 % Turn
3. v Type

4 % Towel

Question Number : 60 Question Id : 630680896150 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In the word given below. if all the vowels move one letter forward and all the consonants move one letter backward, as

in the English alphabet, then which letter-cluster would be formed?

CREATURE
Options :
| % BQFBSVQD

, » BQFBSVQF

, % BQFBUTQF

, » BQDBSVSF

Question Number : 60 Question Id : 630680896150 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

180 @5 520% DS, Q) TN 2.5% ©F TR S00E EBOV eerT el TV
2.8% @5 0°0) 085 L8O, e300 SQSTer SB, &) F & DT E)CEAOD?

CREATURE
Options :



| » BQFBSVQD
, » BQFBSVQF
, » BQFBUTQF

, « BQDBSVSF

Question Number : 61 Question Id : 630680896146 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Refer to the following letter series and answer the question.
(Lef) AEGEUTYNMREWDFGHPUYEACBAERUK J(Right)

Which is the sixth letter from the left end, if all the vowels are deleted from the above letter string?
Options :
1. ® W

Z.SSD
3. % M

4. ¢ R

Question Number : 61 Question Id : 630680896146 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

808 @8 & (BB LICh0R AW 1504 H0 Hedrerado @S 5085.
(JCBN)AEGEUTYNMREWDFGHPUYEACBAERUKJ (506%)

2 @8 8 (33 0% @) 2910 SOR0DILONS, s W3S 0 e3dsd e 0 DB?
Options :
1. # W

Z.QD
3.$3M

4.« R

Question Number : 62 Question Id : 630680896144 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A+ B means *A is the husband of B".
A & B means “A is the mother of B'.

If P+7Y & H. then how is P related to H?
Options :
1.« Father

> #% Brother



3. % Brother’s son

4. % Son

Question Number : 62 Question Id : 630680896144 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

A+ B o) B Sdwd, SS A
A& B @0 ‘B TBw¥) O A’

2.83¥ P +Y & H @000, H § P ogedy?
Options :

v S0l&
) % PSR

3 % 5D T%

4. g“@é)é\)

Question Number : 63 Question Id : 630680896143 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Shloka is the mother of Jayant. Manan is the son of Kartik who is the husband of Shloka. How is Manan related to
Jayant?

Options :

1 % Father

> % Son
3 « Brother

4 % Father-in-law

Question Number : 63 Question Id : 630680896143 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

2BOHOS TwE) O T, T 258 @90 585 50s5B050 0SS, 20005 K0 XS DsyeErtn?
Options :

L% S0
2. goé)g\)
3. & PSS

4 % JOb-ad-er

Question Number : 64 Question Id : 630680896168 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Pointing towards Dushyant, a man named Kartik said, “He is the son of my mother’s husband.” How is Kartik related to
Dushyant?



Options :
1. % Son

o # Father
3« Brother
4 % Brother’s son

Question Number : 64 Question Id : 630680896168 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

0508 B Ty 5885 eF o558 "eoescdd s3r @053 258 Sy e9r . R SoS Ko 5208
DeddyEn?
Options :

1. ® goéjéﬁ
, x SO
3. & PSS

4% DRSSO Tk

Question Number : 65 Question Id : 630680896138 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In a certain code language, ‘DOUBLE’ is written as *‘ELBUQD’, *‘PRINCE" is written as ‘ECNIRP". How will
‘TOWELS’ be written in that language?
Options :

| v SLEWOT

» % WOTSLE
3 % OTWSLE

4 % SLWEOT

Question Number : 65 Question Id : 630680896138 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

ol K}@@ 5 8,5“51(’5&, ‘DOUBLE’ @0c50c5& ‘ELBUOD T @"ctije.)(f‘go&), ‘PRINCE’ @908 ‘ECNIRP ™
|TO0DGOE. @S e 8% 2SS TOWELS & e |a3ard?

Options :

| v SLEWOT
, % WOTSLE
; % OTWSLE

4 % SLWEOT

Question Number : 66 Question Id : 630680896139 Question Type : MCQ Option Shuffling : Yes



Correct Marks : 1 Wrong Marks : 0
In a certain code language, ‘RUBY" is written as *18-21-2-25", *‘CLARK’ is written as *3-12-1-18-11". How will
‘MANGO’ be written in that language?
Options :
1% 13-1-14-7-16

5 & 13-1-14-7-15
3 % 13-1-14-8-15

4. % 14-1-15-7-16

Question Number : 66 Question Id : 630680896139 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

2.8 DOH §6 272, ‘RUBY 9058 “18-21-2-251F [a70020G08, ‘CLARK @908 ‘3-12-1-18-11"
|STONDA0E. AN e 8% 2SS MANGO'S er | &?

Options :
L % 13-1-14-7-16

5 v 13-1-14-7-15
3 % 13-1-14-8-15

4. % 14-1-15-7-16

Question Number : 67 Question Id : 630680896140 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Pratham is standing in a park facing the north direction. He then turns 90 degrees clockwise. After that, he turns 180
degrees anticlockwise. In which direction is he facing now?
Options :

1. % East

2. West
3. % North

4 % South

Question Number : 67 Question Id : 630680896140 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

2.8 3B DD GBEHIT derardd G . 953365 95 90 G| few HX:HFSS Bdotherdh. e
50 5eh, @65y 180 G|fien @005 IS BSHeErd. N eehed 233 O OIS’ o) dh?

Options :



4 % 0880

Question Number : 68 Question Id : 630680896153 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the fifth letter-cluster in the same way as the first letter-cluster is related to the second

letter-cluster and the third letter-cluster is related to the fourth letter-cluster.

TIME-5 : SHLD-25 :: PINK-7 : OHMJ-49 :: COMB-11 : ?
Options :
1. % BNLA-64

» « BNLA-121
; % BONA-81

4 % DPNC-121

Question Number : 68 Question Id : 630680896153 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

R0E5¢3 98 B D300 BOCEN €988 D8 H02OEOLIIE 08N 305°¢8d 8.8 Ded0I0 TS 908 &
DT HODO0BODIE T DO ¢35 ©E T° DI HODOSODAIE AE T AN DD Y5 0k

oNT oA,
TIME-5 : SHLD-25 :: PINK-7 : OHMJ-49 :: COMB-11 : ?
Options :

| % BNLA-64
» » BNLA-121
, x BONA-81

4. % DPNC-121

Question Number : 69 Question Id : 630680896151 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the option that is related to the fifth letter-cluster in the same way as the first letter-cluster is related to the second

letter-cluster and the third letter-cluster is related to the fourth letter-cluster.
RAIN : SCLR :: CARE : DCUI :: FOUL: ?

Options :

1. % GRXP

, % GQYP
; v GQXP
, « GQXO

Question Number : 69 Question Id : 630680896151 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

[0E3 @98 8 DA B0 €98 8 Dedursd*8 H0220E0DINIE DB 307°¢8ed 98,8 DdNIFO TS €98 &
D758 HOROBODNIE T DO 3 @E S DXTIFIE H020HODIE AE A YIS DI HOB



Do A.
RAIN : SCLR :: CARE : DCUI :: FOUL : ?

Options :
| % GRXP

2. % GQYP
3« GQXP

4. GQXO

Question Number : 70 Question Id : 630680896152 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the option in which the letter-cluster pairs share the same relationship as that shared by the given pair of letter-
clusters.

RED : WII
Options :
1. % CAR:HEX

, » LOT:QSX

3.« BIN:GNS

4 % FLY :KQC

Question Number : 70 Question Id : 630680896152 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

255236 €98 T DANTFO 2368 T° 507 HOTHEDEDS T D00 HOTHELS) 08 @F & HDdnTFo
236505 0050 Do JoHFok.

RED : WJI

Options :

| % CAR:HEX
, % LOT:QSX
1 v BIN:GNS

, % FLY:KQC

Question Number : 71 Question Id : 630680896154 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Four word-pairs have been given, out of which three are alike in some manner and one is different. Select the one that is

different.
Options :
1. % Wheat : Cereal

, % Pen: Stationery

3. % Table : Furniture



4 Cup : Tea

Question Number : 71 Question Id : 630680896154 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

TP DEIRNE-236562) Q9 SDTON, ¢3S 0T IE 28 VSO 2BEF EOETON O 2,5¢3 S) O GOENOE.
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Options :
| % B0 : yeacarsen

, % ) 1 ARG

3 % DS 1 HBYTT

4 5)

Question Number : 72 Question Id : 630680896155 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Four letter-clusters have been given, out of which three are alike in some manner and one is different. Select the one

that is different.
Options :
1.« TVXY

, » MOQS
3 % CEGI

4 % DFHI

Question Number : 72 Question Id : 630680896155 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

0 @58 D @D FDT0W, ¢3S e DE 2.8 DO 2,8 EOEFOW, 2.5¢3 S|S0 ) 0T GOENOA.

& D) DI, OB,
Options :

L« TVXY
2. MOQS
; = CEGI

4 % DFHJ

Question Number : 73 Question Id : 630680896156 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Four letter-cluster pairs have been given, out of which three are alike in some manner and one is different. Select the

one that is different.
Options :
| % MIKE : IMEK



» % NOSE : ONES
3 « COST:TSOC

4 % BEST:EBTS

Question Number : 73 Question Id : 630680896156 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :
, % MIKE : IMEK

, % NOSE : ONES
; » COST:TSOC

4, % BEST:EBTS

Question Number : 74 Question Id : 630680896137 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

In a row of girls sitting facing the north direction, only 12 girls are sitting towards the left of Radhika. If Radhika is at
the 16™ place from the right end, how many girls are sitting in the row?

Options :

1. ® 26

Question Number : 74 Question Id : 630680896137 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :

1. # 26

2. # 27
3. & 28

4. % 29

Question Number : 75 Question Id : 630680896167 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



Five friends named A. B, C, D and E are sitting around a circular table facing the centre but not necessarily in the same
order. D is second to the left of A. B is second to the right of A. C is second to the right of B. Who is sitting to the

immediate left of E?
Options :
1L.v¥ A

Question Number : 75 Question Id : 630680896167 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :
Lv A

2'338
3.330

4.% D

Question Number : 76 Question Id : 630680896169 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the term from among the given options that can replace the question mark (?) in the following series.

UKG, XNJ, AQM, DTP, ?
Options :
1. % HWS

, % GXS
3 % GWT
4 v GWS

Question Number : 76 Question Id : 630680896169 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

&s 1806 (33 194 HD ()T 88 T HR) BN BAIT B0 JothEod.

UKG, XNJ, AQM, DTP, ?
Options :
| % HWS

, ® GXS



3 % GWT

4 v GWS

Question Number : 77 Question Id : 630680896157 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the term from among the given options that can replace the question mark (?) in the following series.

PLAY, QMBZ, RNCA, SODB, ?
Options :

| = TQEC

» % TPFC
;3 % TPED

4 v TPEC

Question Number : 77 Question Id : 630680896157 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

&3 (808 335 194, HD (7) Ty, 258 TD Hy 9DIFe o0& JothFod.

PLAY, QMBZ, RNCA, SODB, ?
Options :
1. # TQEC

, # TPFC
; » TPED

4.« TPEC

Question Number : 78 Question Id : 630680896141 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

All parks are kitchens.
Some parks are schools.
Conclusions:

I. All schools are kitchens.

II. Some kitchens are parks.
Options :
| % OnlyIfollows



» « OnlyII follows

3. % BothI and II follow

4 % Neither I nor II follows

Question Number : 78 Question Id : 630680896141 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
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ESEIARVON
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STTEN:
1. @) ardzrerew S0y ichew.
2. ) 508 Hcen ardoyew.

Options :
L x| S8 @000

5 o 1 57ED OI8O
5 % 1 08ain Il Bodhy @8 0w

4 % 150 B 11 570 8 @080t

Question Number : 79 Question Id : 630680896142 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements:

All locks are keys.
No key is a needle.
Conclusions:

I. No lock is a needle.

II. Some keys are locks.
Options :
| % Only Ifollows

» % Ounly II follows



3.« Both I and II follow

4 % Neither I nor II follows

Question Number : 79 Question Id : 630680896142 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0
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Options :
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Question Number : 80 Question Id : 630680896159 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0

Select the correct mirror image of the given alpha-numeric term when the mirror is placed at AB.

A

R5S85

B

Options :

.92dHA
..cecH
.Begee
.eScdd

Question Number : 80 Question Id : 630680896159 Question Type : MCQ Option Shuffling : Yes
Correct Marks : 1 Wrong Marks : 0



AEET) AB 58 GO0 @D 5236 €367 )-5a088 Hdo BBy DB A& 1DS8D020
DotnFod.

R5S5



